normalized X?

107}

1072

107

< X2/ ndf >

< X2/ ndf >

<o pTIpT > (Yo)

Ratio

g
Q©
T

B
» o
TT T

=
[S)

Entries
Mean
Std Dev

1.058

065
073
1.069

Entries 1692(
1

[ normalized x? probability |

0.06f

0.05

0.04]

0.03

0.02

0.0

1692065

- | Entries
Mean
Std Dev.

XZ

Prob(x2)

mmmm= DQM_TT__mkFit-DQM_original-0
s DQM_TT__mkFit-DQM_mod-127
wmm= DQM_TT__mkFit-DQM_mod_updated-127

>

iy

<op./p. > )

Ratio

10%

Ratio

< X2/ ndf >

3
TP n (PCA to beamline)

i

1072 107
AR(track, jetg)



	Contents
	Page 1


